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a1 1

1 a2 1

1 a3 1
. . .

. . .
. . .

1 an−1 1

1 an
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(1) ¦y: Akn�pØ�Ó�A��;

(2) Á¦¢�5�mC(A) = {B ∈Mn(R) | AB = BA}��ê.

y² (1) d16K�,A�é�z.ÏdA�z�A����ê­ê�uAÛ­ê.XJ·�Uy²z�

A���AÛ­ê�1,K�íÑkn�pØ�Ó�A��.

¯¢þ,�λ�A���A��,
�x =


x1

x2
...

xn

�λ¤éA���A��þ.l
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λ− a1 −1
−1 λ− a2 −1

−1 λ− a3 −1
. . .

. . .
. . .

−1 λ− an−1 −1
−1 λ− an
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
x1

x2
...

xn

 =


0

0
...

0



Ïd 

x2 = (λ− a1)x1
x3 = (λ− a2)x2 − x2
...

xn = (λ− an−1)xn−1 − xn−2

Ïd,��x1(½��A��þH����(½.Ïd,z�A�f�m��êþ�1,�·K�y.

(2) duA�A��pØ�Ó,l
�3�_Ý
P ,¦�P−1diag{d1, · · · , dn}P ,Ù¥d1, · · · , dnpØ�
Ó.l
XJB ∈ C(A),B7,/XP−1DP ,Ù¥D´��é�Ý
.Ïd,N´�yP−1E11P, · · ·
P−1EnnP�C(A)��|Ä,Ù¥Eij��k1i11j��1,Ù{þ�0�Ä�Ý
.l
dimC(A) = n.


